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1) For each of the following implicitly defined functions, find j—y
T
a) y* = 3y} —z =3 at (z,y) = (-5,1).
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b) cos(zy) =2 —y
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Con31der the functlon implicitly defined by vi=x+y

a) Find an expressmn for the derlvatlve —
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b) Find the equation of the hnT ngent to this functl?n at the point (0,1).
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¢) Find where the tangent line is vertlcalﬂ—-—-—-———-d
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3) Without using a calculator, compute the following:
%) log,(8) = 3. 9} §
b) 10g5(25) 2- 5 -11 z 1-15
c) logy/3(9)= -2 ¢ \5

4) If log,(A) = 5, logy(B) = 3, and logb(C) = 2, compute
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7) Find each of the following derivatives. What are you using in each case?
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8) Use the trick that fz elP(?) = g2n2) 16 find a formula for
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